10.01.2017 18 NNNYD 190 — p ,p MHMan
MY DY YT DY AND)

PYNIN 1990 DOYN

A0 —p NN NN YW p —2 PONNN NITOY PN 1NN 9D

NN
t
p° 1G]
OVIP VAV M ¢ = 1 9WN9) Pt ATON 1NN NN WY NPINY TN

P I1Z(G)| :ywNs DYpn

py1on K < Z(G) »vip vown »ad

G/ -5y won K < G

pt| |G/1(|

P/K -wTOK € P <G w9 )90 — p nan nn G/K -9 W TPNPYTPNA NN 8

1P| =t 19 [P/p| = pt=1 1095 190 — p nman nn won

p 1 |Z(G)] 23w Dapn

s MPONNN PNV NN DOy

G =12@)1+ Y [6:Co()]

x¢Z(G)
9o NN
alzZiala)

Ce(x) - 2w mypYIINN NN aY pt || [Cq ()] w0 ,p 4 [G: C4(x)] Dy x ©»p N1ona

pEATOR NMAN NN

nyo

QEPWP—DMINIMQ <G 0 -pMIn NN P < G N



10.01.2017 18 NNNYD 190 — p ,p MHMan
MY DY YT DY AND)

nlaFin]

_IPI- 10l
[P Q]

|PQ]

PO < G-vHm

£199Y TIOOPN p — NNAN P Yax .p — nMan PQ mdo
PQ=P=QcP

PN

TN NN TPONIN D - p NN NN

MPoN

D -21n95M N (P) v p — nMan nn 95 3»0 - p nmannn P < G %950 mpna
YN 190 LIYN

MON MTN G SVI»0 - p NMNIN NN YD
NN

;NP2 A

Q= { MMIN NN }
GOV Y —Dp

DTSN OY QLY IO G -
NN P |[p| AR PHNN 900N 5O HY HTHN LA DY RSN YA p .p € QN1 -

9aN P © N;(Q) w.mav nnpymnn Q € Q - v mn (1 nvnd 51) p bv npin

(p) DT NNX NIV NP W Q 5y p NYaa 05 . P = Q 997 Q < N;(Q)

P OV MPIN 5T DN50M

199

|Q| = 1(mod p)
Q & Qg vwvrmn o 0y = QOX.G NI NNN P SY NYONN NN Qp -2 WD) -
,OTP NNV -
2] = 1 (mod p)
Ly DY p NI 95

10| = 0 (mod p) wWymavw nTPIHa Ny oy noyw Q oy -



10.01.2017

18 NNY9N 190 — p ,p MHMan
Y DYN YT DY AN

SWIOVN DD LOVYN NN DX NN

MWIYYN 199D LOYN

DTN 1 = 55PWI>0 - p MMNIAN NN 190N
ntraze)

.G YV ONYos p NN NN Q »NN

MIN1IN NN 90N
1= Q| =m»omnvo —p
Q NN

A0 = p NN NNA NSO p NNAN NN 93 320



